STD 1l

SELF ASSESSMENT TEST 2

MATHEMATICS

TIME : 45 MINUTES

1. Tick the correct answer:

)

TOTAL MARKS : 20

(4)

When 1 is subtracted from a number, the difference is

Successor (ii)

Predecessor

(iii)  Zero

When two numbers are multiplied, we get

Product (i)  Sum

2568 - 0 =

2560 (i) 2000

Multiplication is repetitive

Addition (ii)  Division

Fill in the blanks:

20 x 10 =

20 (i) 200 (iii)

1245 - 1245 =

0 (i) 2445 (iii)
1 = 842

874 (i) 845 (iii)

(iii)  Difference

(i) 2568

(iii)  Subtraction

(4)

2000

1245

843



d 12 x 3 3 x
i) 12 (i) 3 (iii) 36

lll.  Match the following:

a. 4985 - 1000 (i) 4200
b. 80 x 5 (i) 3060
c. 1621 - 10 (iii) 1611
d. 51 x 60 (iv) 3985

(v) 1000
IV. Solve:

a. 7000 + 1327 - 6450

b. 3624 x 35

c. The sum of two number is 8432. If one number is 4201.

Find the other.

d. Fillin the boxes:

(4)

(2)
(2)

(2)
(2)



